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1aw DI2fp - will you wait? — you will wait, or in context with the preceding word,
“will you wait?” said rhetorically.

Vp = Sheva, Vi=Patach, and Dagesh in Rz is the Piel standard pattern for anything
other than the Piel Perfect (“Plel-PAel”). Before assuming Piel when there
is a Dagesh Forte in Ry, it is always a good idea to make sure the Dagesh
Forte does not represent an assimilated letter or a Dagesh Lene in a non-Piel
form. In this case, R1 is visible once we identify the n preformative and n;
Sufformative. Therefore, the only logical explanation for the Dagesh Forte
in Rz is that this is a Piel verb. This could be = 1(3/2)fp, but Naomi speaks
directly to the women, not about the women.
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127+ % Doo - to speak The word has three root letters visible. There is a Dagesh
Forte in Rz and Patach in V1, both diagnostic of Piel non-Perfect. The
Dagesh Forte is not from an assimilated letter, nor is it a Dagesh Lene since
it is preceded by a vowel that is not a Sheva. In context with the preceding
verb, we would render the last three words of the verse, “and she ceased
speaking to her.”

Since Patach is such a prevalent vowel, it often is a surprise to learn that in a word
with all three root letters visible, Vi=Patach ONLY occurs in Piel. The
Doubling Dagesh in R: is also characteristic of Piel (unless there is a 2G or
SQIiN eM LeVY). “Ceased speaking to/with her” might work better in
English than “ceased to speak to/with her.”
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